Add Polynomials
Simplify each expression.

(70—504)+(9c—2c4 +3) (5—7g2)+(6g4 +2+3g2)

(7+294)+(4S5 —9—3s4) (4h5 +2)+(9h5 —7—5h2)

(2x4—4x3)+(6x3+9x—5x4) (2b+9—7b3)+(8b3—6—4b5)

(2—6p2 —5p4)-|—(9p—8p4 +4) (623 —9)+(SZ3 —8+Z4)
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Add Polynomials
Simplify each expression.

(70—504)+(9c—2c4 +3) (5—7g2)+<6g4 +2+3g2)
=—7¢" +16¢c+3 =6g" —4g° +7

(7+2s4)+(4s5 —9—3s4) (4h5 + 2)+(9h5 —7 —5h2)
=45’ — 5" -2 =13/ —5h* -5

( ) (6x3 +9x—5x4) 2b+9—7b3)+(8b3 —6—4b5)
= 3x" +2x¢ +9x = —4b° +b’ +2b+3

2—6p° —5p4)+(9p—8p4 -|—4) (623 —9)+(SZ3 —8+z4)

= —13p*—6p” +9p+6 =z'+112° =17
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